Essay writing style

Compare these two paragraphs. What makes the first one Grade C? What makes the second one grade A? Think about:

· content

· the writer’s style

· use of quotations 

· vocabulary

Mr Birling is having a very nice evening and enjoying himself. He makes a speech and talks about how people should stand on their own two feat. He also makes predictions about the future – “The Titanic is absolutely unsinkable”. He is pleased that Gerald marrying Sheila because it will bring Crofts and Birling together. He is also pleased because everything is looking positive for his family and now his business.

Mr Birling is having an enjoyable family celebration, which he is dominating with his speeches and predictions. He is full of pompous pronouncements, such as “The Titanic – absolutely unsinkable”. Priestley uses this example to show how out-of-touch Birling is, how arrogant. He places his faith in business and greed, and this partly explain his pleasure in the evening since “Crofts and Birling will be brought together to work in harmony”. His obsessive faith in the individual, in progress and capitalism is the kind of selfish attitude that has led to Eva Smith’s downfall. And this is what the Inspector comes to teach him about.
